In which district of Rajasthan ‘Jakham
Irrigation Project’ is located?

(A) Banswara

(B) Jhalawar

(C) Kota

(D) Pratapgarh
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The famous ‘Chitrashala’ in the Rajmahal of
Bundi was built during the reign of

(A) Rao Shatrushal

(B) Rao Ummedsingh

(C) Rao Bhavsingh

(D) Rao Anirudhsingh
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Out of the following, which salt has no water
of crystallization ?

(A) Gypsum

(B) Blue vitriol

(C) Washing soda

(D) Baking soda
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(D) @™ &1 QST a1 W31 Gre

In which district of Rajasthan ‘Jawaj
Project’ is located?

(A) Udaipur (B) Jalore

(C) Pali (D) Jodhpur

TarR 99 RGN TSN & B g {57
Rea 27

(A) SEIYT (B) SR
(C) el (D) gy
‘Nachana’ is a breed of

(A) Goat (B) Cow
(C) Sheep (D) Camel
SICEIE ) Dl Th TG 2|
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(C) %= (D) &<

In which process, heat absorbed or releas
by a system is zero?

(A) Isobaric process

(B) Isothermic process
(C) Adiabatic process
(D) Isochoric process

%ﬂmi‘raﬁaﬁﬁammwsﬁ
Bl & 7

(A) 9™ Y

(B) ww AT WHT
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Rajasthan Film Festival 2022,is ___—
edition of R.F.F.

(A) 11th (B) 8"

(C) oth (D) 10th .
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12 Two trains of lengths 120m and 180m
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n the NITI Aayog’s innovative index 2021,
blished in 2022) what is Rajasthan’s rank?

(P th B th
(A) 12 (5.9
(€ 10° (D) 11t

Afy oTAT & TAER FadiG 2021 ¥ (st 5
5022 ® VST F3) TERU™ & ¥ a1 ¥ 7
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(C) T (D) warEd

which of the synthetic fibre is known as
artificial silk?

(A) Dacron (B) Terylene

(C) Rayon (D) Nylon

#7 3 ate wEaT & oM W @ w@m
ST & 7

(A) & (B) ffe=

(C) @™ (D) g

Anil Kumar, coastguard commando, who |

waved the Tri colour in the depth of the sea,
is from which one of the following districts

in Rajasthan?
(A) Udaipur (B) Alwar
(C) Bhilwara (D) Ajmer
9% @ Tews A from wew aTF-‘IFf FHTL,| |
TeTEE g & HATS!, TR & o
e & E7
(A) S=agl (B) a@al
(C) sicrarsT (D) aTsTHT
14
Two dice are rolled simultaneously then the
probability that they show difterent numbers
1S '
Er  prpmmpm—c i U A b
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1 2
© 3 D) 3
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' ing i i irections
respectively running in opposite direc
at a speed of 50 km/hr and 40 km/:
respectively, In what time will they cross €4¢

other ?

(A) 16 sec.

(B) 10 sec.

(C) 12 sec.

(D) 14 sec.

A > Py s waen 120m agr 180m z,
ush ga¢ & fauda fGem # w9 50 . Y. /a1, AT

40 fi5.531. /. 2 arel & T @ F | feay wEH 4
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Who was appointed the Rajpramukh of

Maisya Unio_n‘? Aé)l/eaj ﬂ%(amﬂ'sf- PO
(A) Maharaja of Alwar i i
(B) Mabharaja of Karauli @ o

i 08B C
(C) Mabharaja of Dhaulpur
(D) Mabharaja of Bharatpurwf 51
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15 Who built the Anasagar? 18 Viv;heltred“[?he famous Kumbhshyam temp\t
A) Jagoadev situated”
((C)) Ajii'aj Eg; 2:&? ' (A) Kumbhalgarh 22
| ] (B) Chittor
ST &1 Frafor Rees saman ardl) (C) Amber
(A) SR (B) em'crmatj (D) Mandore
(C) ST (D) STOFT ¢ it Fraeam AT wEl Rad ¥ 7
o (A) G b BAAT TR ¥ Bag
16 Which one of the following is not'a part of | (B) foit - T ﬁ% CEM WA 3
bangar region of Rajasthan? (C) amX ~
(A) Godwar Basin (D) #w=RR
(B) Shekhawati s ; . :
(C) Ghaggar Basin 1:;~| 19 Who did the e-inauguration of the States fir
[ virtual court?
(D) Banas Basin (o | (A) Kalraj Mishra
Ft & & @ a1 e % i e @1 (B) Ashok Gehlot
T E7 = (C) Om Birla

(D) S. S. Shinde

T T ¥ W ol FE B 3-IgETEA R e
(2) - P O (A) et i
0 = B s e
(D) = 4R - (C) st farzem

- | (D) wq. wd. R
17 If an opaque object placed in the) path of |

light becomes very small, light has@ltendency | 20 __ village becomes first i
;[0 bend around its edges. This phenomenon Rajasthan with 100% health insurance cove
T —— . (A) Nimrana (B) Nimarda
. t - (C) Naraina (D) Narsana

(AY, Polarhaion | WD | TSI BT TBat 100% Wred «)
(B) Interference ,, e FarS 9T T )
(C) Diffraction [~ | (A) Frrem (B) Frma
(D) Refraction ED (C) & (D) &
aﬁmmaﬂmﬁrd’rmsﬁaﬁj%
ﬁa’rwmﬁs%ﬁﬂﬂgﬁaﬁ%“ﬁm 5

= % : .
b1 I 3.27-4.2" | aP1 )|
o o 2 (qz-Pq) “ }
(B) Afdh I a
(OBt @ 2 (B) 0
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North-w
Railway Zone 1S located at .es'[em 26 According to Koppen, Sriganganagar 1S
(A) Jaipur (B) Kota IOCfllcd in which of the following climatic
(C) Jodhpur (D) Udaipuyr region?
eI 1T S HT G R § - N % agare At —
(A) A H (B) @ 3 e # R ¥
(€) SIgT H (D) weayx 3 (A) BWhw (B) Cwg
C) A
The ‘Central Instltute of Arid Horticulture® | ( )U }W (D) BShw
is situated at o
(A) Jaisalmer 27 Rajasthan Ecotourism policy was
(B) Bikaner | lm]glt?fngnled In
(C) Barmer (A)72019 (B) 2021
(D) Jodhpur (C)12022 (D) 2020
HAG b T R’ 4 Rea ¥ TR $hIZIeH Tiferdl @ @l g —
&) (A) 2019% (B) 2021 %
(B) €T _ |
(C) FIET: KA (C) 2022 # (D) 2020 ¥
: \{)
(D) agy .
28 'First of all from where the Hand-axe made
Who founded the Harauti Prajamandal? of ‘stone of Palaeolithic age was discovered
(A) Nainuram Sharma in §aTiaSthan?
(B) Abhinnhari | (Ayz{Jodhpura and Sunarl
(C) Gopallal Kotia (B) Alwar and Tonk
(D) Nathulal Jain (C) Chittor and Bhilwara
TR USTHISE @l AT ﬁaﬁ o7 |
T;?r 1o i (D) Jaipur and Indragarh
(A):I'CH_:UHQ — Bum b e ¥ e TEUISI B e
B) afrei — KA - Y
(prerel) @
(C) TgreeTe eIl | Wﬂi
(D) et S (ALZ5TEgT 3t g
" (BY eqerat 3 2@
5 Which of the following is a neutral amino e sire et
acid?
(A) Glycine (D) YT ST T
(B) Glutamic acid - |
(C) Lysine 29 Haqymany Indian States share their border
(D) Valine' ) ajasthan State?
ﬁﬁ%ﬁaaﬁﬁaﬁﬂm,aﬁlﬁ’fﬁami”%' ﬁﬁ[ﬁiﬂﬁqmwﬁ%mﬂmﬁ%ﬁm
(A) e RS 8 7
B) wefe o< . '(Agﬁz - ® 10
EE) GIFC R o (D) 5
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30

(A) Mirza Raja Jaisingh vA) Bikaner (5) Nagaur 3
(B) Bharmal (C) Jaisalmer (D) Barmer
(C) Bhagwandas Wangn saH wEl fud &7
(D) Mansingh -
T & b T B arat ¥ wel’ @ sy o iy
EU e (C) SgaHy (D) =mswt
(A) Pl won wafe Y STET [oBped
((B:) - :a:{._@ ({-{-1’5—?" 35 If the average of m numbers is 7% and of
(C) e {_3'; numbers is m? then average of (m+,
(D) Wz 5?@.,0497( W 45 numbers will be - ,
i m deel &1 fEd #? g7 n & ;
31 The description related to which State of 2 : ' “
Rajasthan is found in ‘Dastur Kaumvzre’?o SN m & T (m + ) TS M S G
(A) Kota (B) Bikaner m
(C) Jaipur (D) Udaipur (A) » (B) m+n
TR DA § TSI & %er T g | C
i frn b7 £77@ AT AE LA | (© ™ ©) m=n
(A) Brer (B) d&TgR) oY1t
(C) s@ayR (D) Sayx «E’W‘f%m 36 In which month the festival of ‘Kajali Tee
@Kﬂj £}(ﬂ ""‘ﬂ'SP nat «’\-f 307 - is celebrated in Bundi?
32 Who is also called ‘Meera of Vagad’" | (A) Bhadrapad
(A) Lichhma Bai (B) Chaitra
(B) Karma Bai .
(C) Gavari Bai damna
(D) Kali Bai () Shewvn
g arre @ A ﬁr'ﬁrw%? 4 A ‘werel A B AR Row TN F 7
(A) freamETs STl & 7
(B) @AY (A)  WEHIE
(C) TadEr (B) ¥
() E (C) wifti®
33 On which part of body ‘Nevri’ a women (D) e
ornament is worn? )
(A) Head (B) Foot | | i
(C) Hand (D) NECk 37 What percent of 12.5 1s 507? [(][j
ferdf et FmyEer SEdl’ STﬁT.E\aZETP “T%:_E?T 12.5 &t fepaem wfted 50 &7 &
ST % ? ‘ﬁ?ﬁm : ﬂ-ﬂ?;ﬂ? -1?’)* (A) 400% (B) 25% 5 )
(A) R LB C) 100% D) 200% O
(C) & (D) =i TN (€) 0 (D) %
C)
.d‘f
(e
129A (2M333A) ] Z Page 6 of 16 [ (/)

Which ruler of Amer was given the Title of
Farzand by Akbar?

-

34 Where is Fossil Park situated?



38 What do you mean b
y Audak
(A) Water fort fort?

. (B) Girn fort
(C) Dhanvan fort
(D) Military fort
AEd N A ST THIT a7 & 7

(A) W« g

42
Who among the following rulers of Mewar

defeated Ibrahim 1 1
Lod
Khatauli? ' in the bartle of

(A) Rana Ratan Singh
(B) Maharana Kumbha

(C) Rana Hammir
(D) Rana Sanga

(B) Rt g
(C) ur= g s % Frfalaa sas &
- sEet ¥ ¥ freer genfem @il
(D) ¥ g P e % g@ ¥ v e
39 ‘National R gl I
iona
located at eSﬂﬂI‘Ch- pimedehad, (?1) Wﬂgmﬂ-(w
(A) Bikaner (B) Jodhpur (D) ks .
(C) Barmer (D) Ajmer W3 XD S
UL & AT Y- :
(A) FET B ;ﬁug—{ 9 Rua 71 | 43 ;l;)celtel;rate l;[he spirit of entrepreneurship 1n
e state, the gov :
C) T _ : government organised th
C) (D) =T Rajasthan Digi Fest 2022° on 19t - 205
40 Ran | August in which city?
foaunl;lléhiit _15 the most common disease (A) Jaipur (B) Udaipur
(A) Silk w (C) Jodhpur (D) Kota
o, TR T H Tafar & wEE 3R
(B) Fish 19.90 awer & S| & &g @I A
(C) POUltl'y i @l T fesit B 2022 i
(D) Bee e fohg 9T H fohAr?
Waa A7 Rege aite aEe T 7 (2) ; (B) a3
(A) ”{am#: o4 (D) e
(B) #= ( At .
o ' ? gg,q J 44 wmc;l of the following pairs is not correctly
Bl | ﬂyg/fg?] matched?
D W \ R
®) @Kgd = xa W(ILEPW' w ‘(‘:l)ldhfe Sanctuary District
Shergarh »
41 A two digit number 18 obtained by either (B) Vanr%/airh BDiranl
multiplying the sum of the digits by 8 and (C) Ph ar _ - a}l ptt
then subtracting 5 or by multiplying the D ulwari Ki Nal - Udaipur
difference of the digits by 16 and then adding (D) Keladevi Bharatpur
3. The number is - ﬁqmﬁ?tﬁﬁﬁﬁqmﬁ@mﬂﬁ%m
Wﬁmﬁmaﬁmﬁmaﬁ%tﬁ“ TAAR AR fora 3
B 8 1o ¢ SE § 5 THT I (A) $rTe B %
W & o il ¥ ot A 16 § T (B) T9 fT _ e C;
(A) 92 (B) 38 (D) e "t :
(C) 65 (D) 83 (
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48

D) 12% ".a.

Cyanide process is used for extraction of -
(A) Platinum

(B) Zinc

(C) Nickel

(D) Gold

qRAEs Withan, frepdu § amar & -
(A) wies| &

(B) e %

(C) Tow &

(D) 99 %

The compound interest on a certain sum for
2 years is X 882, whereas the simple interest
on it 1s X 840. Find the rate of interest.
(A) 15% p.a. |

(B) 8% p.a. |

(C) 10% p.a.

(D) 12% p.a.

fepdt ffyera fdr ax 2 ad @1 awghs = T 882
STl HTETT T T 840 BT & | o911 &1 g%
BIGECA L

(A) 15% u=.

(B) 8% u.4.

(C) 10% w.=.

The product of a number and 72 exceeds the
product of the number and 27 by 360. Find
the number.

Tch &A1 41 72 &1 TEGA 9 g qegr 27 % |

UGG § 360 9T ¥ & Sd v
(A) 12 (B) 7
(C) 8 (D) 11

Which place of Rajasthan is famous for
Theva Art of enameling?

(A) Jobner

(B) Barmer

(C) Pratapgarh

(D) Nathdwara

AT DY AT Bl b T e
WM g &7 wzﬁ::m

S0

49 Who founded the Mahila Ashram in Bhilwah

T

in the year 19447 52

(A) Shanta Trivedi

(B) Narayani Devi Verma
(C) Amnjana Devi Chaudhari
(D) Ratan Shastri O

firarst # 1944 ¥ frgs dfeen amawm o
T @l 7 [~

(A) giem Brd OO
(B) wviedl i [f]:
(C) oivedr el
(D) @9 qmrE

If x2—11x+l=0._,§'_t;hen the wvalue cS:

1 —
X2 +——) s o
( xz 1S CD
Y
< 5 . ]
R x? —11x+1=0,d | X T2 @A
(A) 9 (B) 119
(€) 121 (D) 123
l"‘“‘
51 Electromagnetic in{qﬁtion was discovere
by - T
(A) Ampere <
- (B) Oersted
(C) Faraday :
(D) Bohr .
- (/)
foga g YT DG B Ao fj:
(A) THET | ™ ()

by )

Eg)) ST ®) st 3 C&)‘ c)
- fitid (C) Hu3 wH = -
(D) -™E | (D) aXH f) ¢
)
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For the set of number 2, 2, 4, 5 and 12 which
of the following statement is {rue?

(A) Mean = Median |

(B) Mode = Median
(C) Mean = Mode
(D) Mean > Mode

wE T 2, 2,4, 5 e 12 % fyg, Prefifag

S

¥ B 91 HUF G 7 L4
() T = -
(B) Sg@d = HI&ge ™)
(C) wred = Tgma ‘;Q
(D) #IEm > Sgah

Which of the following Wildlife sanctuaries
is famous for flying squirrels?

.. O
(A) Sariska -
(B) Bassi [~
(C) Nahargarh g
(D) Sitamata o |
frafafig ovamudl § ¥ @i 91 984 sl & |
o wftrg % ?
(A) afent l@-
(B) ras)| -
(C) =TT ™
)
uZH

A cone, a hemisphere and a cylinder s:[and
on equal bases and have the same height.

The ratio of their volumes 1S -

S35

56

S7

Jakham Irrigation Project facilitates irrigation
of which districts of Rajasthan?

(A) Bhilwara, Banswara, Bundi

(B) Ajmer, Beawar, Kishangarh

(C) Dungarpur, Udaipur, Sirohi

(D) Udaipur, Chittorgarh, Pratapgarh |
STa RiaE aREeT TR % R Rl b

(A) e, qradarst, gl
(B) oWTHT, &MY, [hITe

(C) YT, &ayy, e

ZIRIHAYLE 1”\’%
BT A< o AR I

(D) SR, faclise, WM o 5 , g £ITE2D

@ﬁl}f KQWH‘SFHImNt—

Which one of the following villages, having
a total of 110 families, situated on the
periphery of zone - 10 of Ranthambore Tiger
Reserve is to be shifted from the park’s
boundary?

(A) Indala

(B) Gadhi

(C) Kalibhaat bhata

(D) Bherupura

TOTYFIT 237X d o iM—10 & 9 § g
110 9@ are Fr=iiviad ® & 6" i o1 arh
bl T § WA T SET € ?

(A) TSI

(B) et

Who was appointed chairperson of Rajasthan

State Commission for Women in February
20227

(A) Rehana Rayaz Chisti
(B) Suman Sharma

(C) Anjana Meghwal
(D) Sumitra Jain

maﬁzozzﬁwmqﬁmmw

Y 5y Frgea forar T ?
Hmm“?mﬁmﬁ%'wﬁ' ) o s
i | - = (B) ga gmt
(A) 3:1:2 (B) 1:2:%?‘ (C) s AT
(C) 3:2:1 (D) 2:1:35 (D) giEn =
Pag390f16
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58 Who among the following is not associated

59

129A 2M333A) | Z
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with Praja Mandal?
(A) Govind Gury

(B) Jamnalal Bajaj

(C) Jai Narayan Vyas

(D) Gokulbhai Bhatt

1 ¥ § B9 weinisw ¥ dag T8 @7
(A) Tifig 1

(B) Se e suie

(C) W& W =g

(D) Mg wz

From where the Bhil revolt of 1881 in Mewar
began?

(A) Rikhabdev (B) Kherwara

(C) Barapal (D) Kotra

qarE ¥ 1881 & Wi fasiie wel 4 g& gom ?
(A) TREaea (B) @TEmr

(C) sraur (D) s

The magnitude of magnetic field produced
by a current carrying circular loop at its centre
is directly proportional to -

(A)
(B)
(©)
(D)

us faga aREl gUwR U $ g qv gg=
TEHE & B qF AGIH Bar § —

(A) WIET ¥ AR B TEE T
(B) weT H WaTEd €T %
(C©) urer & Bt &

(D) W3 & T &l HE g1

length of wire of loop
current -passing through the loop
radius of loop

thickness of wire of loop

61

62

63

Page 10 of 16

(C) @rerl el

Bagore civilization is situated on the bank of
which River?

(A) Ghaggar River

(B) Sabi River

(C) Kothari River

(D) Katli River

qri gwaar ford < & fhTe Rud = 7

(A) ==L &l
(B) @rel &

(D) el 1l

In August 2022, Chief Minister Ashok Gehlg
requested Prime Minister Narendra Modi tg
award Mangarh Dham a ‘Nationa
Monument® status. In which district is i
situated?

(A) Pali (B) Banswara

(C) Dungarpur (D) Sirohi

Il 9N e F o 2022 & g
T |Gl ¥ JTE 919 6 TS SE &1 &

&%mmgﬁaﬁsmu%ﬁmﬁﬁﬁﬁua%?
(A) 9l

(C) TRy

‘Dhaulidhoop’ is related to which saint o
Rajasthan?

(A) Saint Laldas

(B) Saint Charandas

(C) Saint Peepa

(D) Saint Ramcharan

Y T % R w9 4wk ¥
(A) ¥d W |
(B) €9 wvEm s
(C) < dwr :
(D) 4d e (
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A natural number when increased by 12,

: : _ -South extension of Rajasthan is -
equals 160 times its reciprocal. The number 68 The North-South exiens jasthan 1
is - (A) 1070 km
qF WFd §ET ¥ 5 12 A ghg A i ¥ ) (B) 826 km
g% &9+ gohd B 160 A1 & Far 1 gEr E — (©) 869 km
(A) 16 B) 6 ot
(C) 8 (D) 12 (D) 9 ,

TSI ol IS T & —
‘Swasth Betl’ campaign was started in (A) 1070 Ty
January 2022 from which district? )
(A) Alwar (B) Ajmer (B) 826 fami
(C) Bharatpur (D) Bhilwara ©) 869 fd
@l 93 A SHad 2022 ¥ feg e | -
qree femam T ? (D) 970
(A) STeel (B) 3T
(€) "W (D) s 69 Who is the author of the dnovsls ‘Safed
Memne’ and ‘Patton ki Biradari’?
B;Z. ?o?lirctilgda I:I;)k nale Mar'ldal - (A) Rampratap Sharma
(A) Janardan Rai Nagar | (B) Rangey Raghav
(B) Devilal Samar' (C) Mani Madhukar
(g) IIiornal BKh(:Ih arl (D) Rajendra Mohan Bhatnagar
arna | ’

%yﬁmﬁﬂﬁwwﬁwm' ahg A’ ol ‘gl & faredy’ foew STIE@

q @ Al o T &7
(A) SHEEETE AN (A) THYE g™
v gl ol ®) < T
C) &He Dol |
ED)) HCAT A (C) =T AYHT

. ” (D) TSI = AgA WA
A work may be completed in 10 days, 1I X, |
y and z work together. All three started work | | |
together. x left after 4 days, then y and Z | 59 Which one is not the major technique of soil
completed the remaining work by taking conservation?
10 more days. In how many days could (A) Control on cattle grazing
x complete the whole work alone?
(A) 2% days (B) 35 days (B) Crop rotation
(C) 30 days D) ?8 days B (C) Use of chemical fertilizers
—pd e mﬁﬂﬁﬁﬁ ;:arlroaﬂﬁ (D) Strip cropping
H%mﬁ'mwfmwaw 71 W Y e faf o @ T §7
mﬁywzﬁlommﬁqiﬁ'ﬁm (A) SyETTor 9T P
T | x Srdhet T AR | (B) wuw et
o 38 B B) 35 R (©) e s @ @
(C) 30 fm (D) 28 & | O e g
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Shri Lal Joshi 18 associated with -

. (A) Nautanki (B) Phﬂdl
(C) Rammat (D) Khya
e Sl @1 gey e e
(A) Dl (B) ®®
(C) ™ (D) &

72 Which district was awarded F['()”Ir its “Home-
Based New born Care’ (HBNS) at an event
organised by Health Dei::)a‘rtment and
UNICEF? »)

(A) Ajmer (B) Sikar
(C) Jaipur " (D) Alwar
e R 3T g & EgW € H ST
e 3 R RS @Y ST eI ST
(mg @A) & ol g \ T Y
(A) ST (B) HHy
(©) YL (D) ot

L

73 Where the famous Jait S:;:Q’Ear Talab is
situated? : | |
(A) Alwar (B) Dungarpur
(C) Bundi (D) Jodhpur
(A) F@at (B) %:'WCE!T
© = (D) SEy

5

74 Dr. Sudheer Bhandari is[:g'ppointed as
Vice-Chancellor of — “J
(A) Rajasthan University of Health Science
(B) Jai Narayan Vyas University
(C) Rajasthan University
(D) Rajasthan Technical Uﬁi-@ersity
el gﬁ%ﬁmﬁgﬁﬁmw% _

(A) ToRI™ W R fgam w

7S The inheritance of colour in snapdragon s

an example of -

(A) Incomplete Dominance

(B) Complete Dominance

(C) Co-Dominance

(D) Independent Assortment

WY W YUl ) e R samT ¥
(A) 31qul guferar

(B) uuf warferar

(C) gguwIiera

(D) @™ srvege

76  State of Rajasthan has been in how many
Agro-Climatic Zones?

TSI oY et febee pia—sTerd1g W9l & aiiga
TRaT Tl %—p Q4 2 42-le h |
(A) 15 (B) S
(C) 10 (D) 8

Identify the vector quantity : -
(A) Temperature

(B) Pressure

(C) Momentum

(D) Distance

gfeyr iyt qearia
(A) @
(B) ==
| (C) e
D)

78 The temple of Mallinathji is situated

77

(A) Khadnal

(B) Tilwara

(C) Koloo

(D) Jayal

oo Mt &1 Hial _
(A) @S

(B) fawmarsT

(C) @I

(D) &«

129A 2m3334) ] E
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80

81

82

79 What is the main source of irrigation in

.W@Hﬁgaﬁqﬁwmaﬁtﬁ‘aﬁﬂﬁ%?

PV O P | - [ PR
mIBIOIT IDI8

ey

Rajasthan?

(A) Tube well (B) Ponds
(C) Wells (D) Canal
() T (B) e
(C) 3U (D) 98T

Which of the following is a cationic
detergent?

(A) Sodium dodecyl benzene sulphonate
(B) Cetyltrimethyl ammonium bromide
(C) Sodium lauryl sulphate

(D) Sodium Stearate ‘

Wﬁﬁﬁ%ﬁﬂm@ﬁawr%?
(A) wifsTA SIS I qeee#,8 91K
(B) dfcazafia smifew smEs 7o Fa

83

84

(C) |isaq dsd acbe (ﬁal._m'ﬁ“@cpaﬂ
D) @iftg @ BT FIH G

What are Atapati, Amarshahi, Udéﬂ;:}{ﬁ;an
Shivshahi?

(A) Food items

(B) Types of Head wear

(C) Types of Ornaments

(D) Species of Sheep
areadl erReTel, STeeél ST firasTer @ 27

Which of the following is not a Khatif crop?
(A) Maize (B) Wheat
(C) Rice (D) Jowar

(B) T

(D) ¥\

(A)I Herehl

85

-— _1'1n'|:“|6

Who is the author of Liltans?

(A) Narottam Das
(3) Kanhaiya [Lal Sahal
(C) Kanhaiya Lal Sethiya

(D) vijaydan Detha
St . oEE BT Y7

S’

Accordi;g to Meteorology 51% or more

deﬁcienf:‘:iy;:'bf rainfall from the normal rainfall
1S :c:allecir:i?E drought.
(A) No
(B) Normal
(C) Severe
(D) Mé‘t{le;rate

G .
drem fagm & oTgER " 9w ¥ 51% 4
_ g@r %sEd 8l

st
Which district in Rajasthan has lowest

populatiggi density per square kilometer as
per census 20117

(A) JaiSalmer
(C) Ajmer

(B) Kota
(D) Dungarpur
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86 Which of the following persO at Abu with

87

- : ou
with the integration of M

Rajasthan?

(A). Bhim Singh

(B) Kunwar Singh
(C) Hiralal Shastri
(D) Gokulbhai Bhatt

Rpforaa ¥ Ry il @l
% W e &t g fear S

(A) v RHE

t7

Where did peasant agitated un.der the
leadership of Kunwar Madansingh in 19277

(A) Bikaner (B) Alwar

(C) Bharatpur (D) Karauli

1927 & $ax weRiE & g ¥ Reare ¥ el
e R -
(A) dHFT (B) e

(C) Wyt (D) &l

Who was the founder of Chauhan dynasty of
Jalore?

(A) Hamirdev
(B) Kanhaddev
(C) Kirtipal

(D) Ratan Singh

Page 14 of 16

89

90

91

(D) 9w

Who was the Governor General of Indj, Whe
treaties of 1818 were concluded wit g,
princely states of Rajputana?

(A) Warren Hastings |
(B) Lord Wellesley

(C) Lord Hastings

(D) Lord William Bentinck

S STgaET ol Famadal & qra 1818 & s
gl df; T9 WG &7 TGN S D G917
(A) 9=, #RET

In Rajasthan supercritical thermal po*
plants are situated at -

(A) Chhabra and Rawatbhata
(B) Mahi Dam and Jawahar Sagar D"
(C) Rawatbhata and Rana Pratap Sag¥ v
(D) Chhabra and Suratgarh

i
-

TSR ¥ guv ffeeme aq RETE 00 £
(A) B8t e YT o
(B) =& sy e wraret w9 .
(C) W@wmwﬁm (D_]
(D) ot ot qrame 3
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92 The inscription of Manm

93

94

95

ori belon '

(A) Pali

(B) Mandore
(C) Mount Abu
(D) Chittor

;“:“"fl e T % fyg o § g

Lokendra Singh and Jaideep Singh Rathore
are representing Rajasthan in -
(A) Basketball

(B) Cricket

(C) Wrestling |

(D) Kabaddi ;
Th=E T TIAIRE TS T Bl AT
HL W T — .

(A) SEhead |

(B) fhhe #H

(C) et H

(D) wasd &

Bronze statue contains mainly -
(A) Copper and Tin

(B) Copper and Aluminium
(C) Copper and Zinc

(D) Copper and Nickel

By o qfd § SAEET Bl § -

Saptkiran refers to -
(A) Garment

(B) Poetry |
(C) Military exercise
(D) Natural place

96

97

98

| 99

100

Which one of the following is not one of the
4 pillars of “Zero Budget Natural Farming’?
(A) Shurua_t (B) Jivamrita

(C) Bijan%l‘lé - (D) Acchadana
Prefeaflad ¥ & @I W9 awre gt Ay
¥ are @il ® T8 ¥ 7

(A) & (B) Shamm
(C) 9wy (D) arevrEm
Ganganagar - Ageti is a crop of . .
(A) Rice (B) Wheat
(C) Cotton (D) Kinnow
- - @ HEA ¥
(A) drad B) ®
(C) &u™ (D) &g

Ganjifa, Charbhar, Naar-Chhari are kinds of -
(A) Garments

(B) Games

(C) Folk Theatre

(D) Musical Instruments

TIET, TCHY, T84 5ad Jare €7

(A) dqrea™

(B) wdw

(C) wi% -

(D) == I

Loss of one X chromosome in females
leads to -

(A) Wilson syndrome

(B) Down syndrome

(C) Turner syndrome

(D) Klinefelter syndrome

T X UGS @) i § Tl ¥ g 9 EEAL
——

(A) Tam= R

(B) =mH Rigw

(C) =R Rigm

(D) wERheey Rigw

The ratio of present age of Naman and Amit
is 3 : 2. Which of the following can not be
the ratio of their ages 20 years ago?

T ol arftre o adwe ong ¥ 312 1 S

:ﬁlﬁﬁ .- %'ZOw@ﬁﬁmﬁﬁaaﬁﬁﬁHmaﬂa%rﬁ?
(A) d1 ST &l € hal ¢ =
(B) war / e (A) 17:10 @B 7:5 e
(C) = =N C) 8:5 (D) 11:7 C:

T (
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